10



178

(2,2)

(2,2)
(0,0)

(0,0)
2.2)




10

L

179



(chicken game)

180



(4.4)
3.1

(1.3)
2.2)

(prisoners' dilemma)

10

L]

181



182

(3.3)

L]

(3.3)

(2,2)

2.2)
(1.4)

(4.1)
3.3)




10

(2.2)
1.4)

(4.1)
3.3)

L]

183



184

40

10

20

100

60

90



B
10 \
.F\
R .D
\ E
2 @ o R
S\
A .\ C
° °
0 S 10
A
BC
5
2
BC

10

2
5
10
A
BC
5
5
AD
AE
F R
10

L] 185



(Richard H. Tawney)

BC
45
BC E

45 BC

ON E

186 LI

(John S. Mill)

()
2 P4 Aé’/ \\
C
oe® : —=
5 10
45 BC
45 BC
F
C oM




10

) 0\0|0N|0“0W
/ s/

45

BC

45

ow

(ON)

oM

187

L



188

L

oM ON

(Jeremy Bentham)

45 F




10

A
B C
B A
45 A
B
1971 (John Rawls)
A
B C B A 45
A B B C
C B
NDM
A D

L] 189



190

(Jeremy Bentham, 1748-1832)

Government)

(A Fragment on




10

(John S. Mill, 1806-1873)

L

191



192 LI



